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This is what the mwn is teaching; - 991 2ANY 73952 19 NInR
‘And similarly in an unclassified garden’, etc.

OVERVIEW

"X attempted to resolve the apparent contradiction in the 7wn as follows: That
when the 7wn stated “ANIX P20 NTA? WAWTW QPR 71°32 107, it meant that in a 71%
ono and a 7Ypa2 MNTA? WY 2P one is obligated to build a wall. NM9OIN anticipates
the following question. How would we then understand the &9°0 of the 7iwn which
states “IMX PN PR NI KOW AT 2P 7vpaa Pax’? Seemingly it is telling us
that by a 7vp2a in a MTA2 XYW IWTIW DP» one is not obligate to build a wall."! This
implies, however, that by a and nyp2 one is obligated to build a wall. However
from the Xw> we imply that a 7vp2 requires a wall only by a 2737 1w o3pn and
not by a ono avpa. The original contradiction remains (as far as a 7ypa is
concerned).

mooIN resolves this problem:
3:9MN 1229901 PR N33 911D 19N XOY DIPNI NYPA DND DAN 219 WI9Y W)Y 9193 NOYD)

And we can similarly interpret the x2°® likewise. NM901n now quotes and
interprets the X9°0 of the 71wn according to »aX: however an unclassified valley
and in a place where it is not customary to fence in the gardens we do not
obligate him to build a dividing wall.

SUMMARY
When 2R interpreted the Xw, the same applies to the &9°0 that by a and 7yp2 and
7132 7727 T X9Ww 01 he is not obligated to build a wall.

THINKING IT OVER
How did we understand s'®27 question; 22X °Rn 3"X' originally, and how do we
understand it according to m»oIN?*

>R only reinterpreted the Xw™ of the 71wn that states 711232 191; giving the impression that the X9°0 should be read
literally that by a I 1221 1R 1737 171 XOW DIPP1A Typa.

2 »1x did not intend to reinterpret only the X of 711°32 121 In fact the same reinterpretation applies to the X9°0 of
'mypaa Hax' as well.

3 If the X9°0 were not written as such, one may have entertained the idea that by a 71’ there is always a requirement
to build a 2m> even by a 11737 1271 XYW 0pn (especially and indeed truthfully according to the X7 n¥°nn 7"n if it was
1%7). When the X9°0 teaches us that 7vpa3 %2R and in a MMR P20 PR 32 N2 101 ROW 0Ipn, this forces us to
conclude that 712°32 191 refers only to ono 733 and not 1737 171 X2w DpnH1.

4 See X"wImn.
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